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No. 12 BBF 50m &Eik = A4 LL—RRE S 28.32
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B K £ B 2E KK iclE
1 RE HK kg 1 4/ 1 32.55 7#% ( 0.55)
2 )7 B Hepg ] 4/ 7 32.77 65% ( 0.60)
3 SLE LS e 12 3/ 8 35.12 3#% ( 0.55)
4 J 3 B3 W EHF 2 3/ 4 35. 80 2#%  ( 0.69)
b FHIE 1HE e 1 1/ 2 38. 22 2%%  ( 0.62)
6 Y GhE B B AN 1 2/ 5 38. 71 Lk (0.71)
7 B0 B 4R 1 2/ 1 39.35 L% ( 0.67)
8 Iufll) Ot BiAH 1 2/ 4 39. 84 2#% ( 0.66)
9 Hig 2 Tk=R=AAY 1 1/ 5 41.07 %% ( 0.59)
10 kg &= P AR 12 3/ 7 41. 66 ( 0.80)
11 22 R#fidk [EEA M 2/ 6 43. 29 ( 0.78)
12 HpT (B LS 13 2/ 7 43. 43 ( 0.67)
13 | fkE R[a] Hh2 1/ 6 45.10 ( 0.67)
14 BRI 3k [T Hl 1/ 4 45. 37 ( 0.68)
15 J[H  BHE LS 13 1/ 3 47. 31 ( 0.57)
16 /MK Bl ik Ak 1 1/ 7 50.92 ( 0.83)
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B KK £ Fr & 2E KB G
1 44k 8 KH R A AR w2 4/ 4 30.58 6% ( 0.58)
2 B Eik 7 4 =8| 3/ 3 31.17 65% ( 0.73)
3 JRMEIE ACER REI A F4iE =) 4/ 2 32.10 5#%% ( 0.63)
4 #rE RIK Fiik 7 b =2 4/ 5 32.19 5% ( 0.59)
5 #iH il St 5 ] = 4/ 8 32. 24 5#% ( 0.65)
6 JEve A LED R = 4/ 6 32.37 5%%  ( 0.62)
= PN ok = 4/ 3 32. 84 4#%  ( 0.59)
8 Jigk WKER W =2 3/ 5 37.78 ( 0.51)
9 T Ak H =) 3/ 6 38. 65 ( 0.64)
10 7)1l {EF BRI SE =2 3/ 1 39. 46 ( 0.79)
11 M 5 KRR B SRt =g 2/ 3 40. 72 ( 0.63)
IPALSS/NC YN BEIts =3 2/ 2 48.78 ( 0.67)
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